Opakovanie násobilka 6, počítanie do 100 s prechodom





Otázka č.1: 60 : 6 =	(1 bod)

a) 10
b) 1
c) 6


Otázka č.2: 48 : 6 =	(1 bod)

a) 9
b) 8
c) 7


Otázka č.3: 36 : 6 =	(1 bod)

a) 6
b) 7
c) 5


Otázka č.4: 6 : 6 =	(1 bod)

a) 6
b) 0
c) 1


Otázka č.5: 54 : 6 =	(1 bod)

a) 9
b) 8
c) 7


Otázka č.6: 6 . 7 =	(1 bod)

a) 36
b) 42
c) 48


Otázka č.7: 6 . 3 =	(1 bod)

a) 12
b) 24
c) 18


Otázka č.8: 6 . 8 =	(1 bod)

a) 54
b) 48
c) 42


Otázka č.9: 6 . 5 =	(1 bod)

a) 30
b) 24
c) 35


Otázka č.10: 6 . 2 =	(1 bod)

a) 10
b) 8
c) 12


Otázka č.11: 40 - 27 =	(1 bod)

a) 27
b) 13
c) 23


Otázka č.12: 63 - 36 =	(1 bod)

a) 27
b) 23
c) 33


Otázka č.13: 32 - 23 =	(1 bod)

a) 7
b) 11

c) 9


Otázka č.14: 97 - 89 =	(1 bod)

a) 9
b) 8
c) 12


Otázka č.15: 42 - 17 =	(1 bod)

a) 25
b) 29
c) 35


Otázka č.16: 17 + 18 =	(1 bod)

a) 25
b) 35
c) 28


Otázka č.17: 14 + 26 =	(1 bod)

a) 36
b) 30
c) 40


Otázka č.18: 33 + 9 =	(1 bod)

a) 52
b) 42
c) 32


Otázka č.19: 23 + 37 =	(1 bod)

a) [bookmark: _GoBack]60
b) 70
c) 50


Otázka č.20: 36 + 36 =	(1 bod)

a) 82
b) 62
c) 72


